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PAPER CODE 2016 (S) A

NUMBER: 71 91 SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) (o S L
GRGUP-I . bt e i
TIME ALLOWED: 20 Minutes OBJECTIVE (%~ w20 = 20
MAXIMUM MARKS: 15 15= /f

el e /CL:’:?H,}b”‘;}fﬁz”{;.Talg?_"/z:a.ufu:}'f:éi{_J&Va’:Jf;’/;{{_éb/L}Ji.’ qurfc_; DN CB A .....«U:"ﬂﬁfbl.;)fr/ i
o4 ._f:’_ig'p;_,'f‘/:}g;}f_,ﬂ ..::,/:‘J.L._/:‘u;: Bubbles _E’x;r‘:lxlf.ffﬁuﬁw b g .../:; P k d_.)/.;yu:/ba:_lyc'_u_.lzl ~ 5
Note: You have four choices for each objective type question as A, B, C and D. -,_,;/C;J’)f?;_-_mr,;,g{,grr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not sclve guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) The solution set of equation 4x2 — 16 = () is:- eerf¥ax’ ~16=0 =bi (1)
A {+4 } ® {4} © {+2} (D) +2

(2) o+ p? isequal to- PR, Y
A o’ - B> 8 © (o + B ) -2ap () o+ p

@) If ¢, B are et ASE 2B o 20 TSl X —x~1=0 wh B e S @)

the roots of x* — x — | = (), then the product of roots 20t and 2B is.- (A) -2 (B)2 (C)4 (D)-4

(4) Inaratio x:y, y iscalled- —1'—3'11.-""/ y Wiy = (4)
(A) Relation J’J (B) Antecedent {};g_,%; (C) Consequent f:d/u (D) Means u:d”s

(5) If % = —; , then componendo property is:- ce e S % = % A (5)

Wrntmd @5y 97 QS SR .

(6) Partial fractions of (r——chT—(%-rE) are of the form:- --.;_d;fﬁ&/w;zJ —T)—{}H:Z‘) (6)
Bitome Bl gt S 15 R ©) H—f‘(—z

(7) 1f number of elements in set ol Smuﬂ- JEOIEAX Bt B 2wl 3 IS, A a.rff (7)

A is3andinset Bis4, then numberof elementsin 4 x Bis- (A)2 (B) 4 (C)12 D)7

(8) The number of elements in powerset {1, 2,3} is:- ,g_g}mfﬁ;fu{.dcﬁ_*{»&é {,2.3} ®
(A) 4 (B) 6 (C) 8 (D) 9

(9) Adata in the form of frequency distribution is called:- -LLT'LL{”:U’Q‘- “(‘J’(’” Soan (9)
(A) Grouped data )U"J"j/; {B) Ungrouped data :fruﬁ,-)jf (C) Histogram .:“fJL," ¥ (D)Sum s

(10) Sec® Cot0 = Sec@Cot® = (10
() Sind ®) 7o © - o) 28

(11) The symbol used for a triangle is denoted by:- s ertid L1 Srbieds (1)
(A) £ (B) A €) L 0) ©

(12) The distance between the centres of two congruent e 66T P L s ISMd b St Samn (12)

touching circles externally is:-  {A) Of zero length J»Jf" (B) The radius of each circle f 6 i
(C) The diameter of each circle #8715 (D) Twice the diameter of each circle ALy
(13) The arcs opposite to incongruent central angles of a circle -.uj;;lﬂu.f” Al L sl Jd)}ft}‘/f»ukﬂfh.g (13)
are always:-  (A) Congruent J'—“J” (B) Incongruent / w‘)’ {C) Paraltel Js1# (D) Perpendicular »f
{(14) In the given figure, 0 is the centre of the circle, st x iZ -2 0 }Cfggfr.'uﬁf@?ﬁ; (14)
then the angle X is equal to:-

(A)55°  (B)110° (C) 220" (D) 125°

(18) _____ common tangents can be drawn for two touching circles. _.L,fa“;lgé_.hu'v\.(]} Lusfr:z,né./uf}: (15
(A)2 (B} 3 C) 4 (D) 1

30(Obi)( 3%)-2016(S)-/ 600  (MULTAN)
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PAPER CODE 2016 (S) A

,;IUMBER: 7194 SSC PART-Il (10th CLASS)
MATHEMATICS (SCIENCE GROUP) (u.»/ U S
GROUP-II , e = onf
TIME ALLOWED: 20 Minutes OBJECTIVE (% .~ w20 = =
MAXIMUM MARKS: 15 15= AF
A o b A3 I L N esre S iril & st bl v g J8312 <L Es D st C B A =Nyl iy S
Ul Kb A3 e s S S2; Bubbles Byl iz S §E S Sk | e.,fz,fw;fm;,.»_,( i)
Note: You have four choices for each objective type question as A, B, C and D. -u’/ J/j'n...»l.”f/.:f,.ﬁf
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER. .
Q.No.1 A A
{1) A pair of chords of a circle subtending two congruent Ea ;J.fg,,iTg,fg'&Luﬁxw"&,-sb‘d}g’u‘fw'ﬂ (1)
central angles is:-  (A) Congruent J1=*  (B) Incongruent J1=#  (C) Over lapping —f1» (D) Parallel $.i5
(2) Inthe given figure, 0 is the centre of the circle then angle x C w0 }f/K.:_Jf:ufuﬁﬁffJ (2)
is equal to:- —esls X i
(A) 50° (B)75° (©)100° (D) 125°
(3) Tangents drawn at the end points of the diameter of a circle are-- LWy LB S (3)
(A) Parailel (15 ~ (B) Perpendicular »»*  (C) Intersecting Cj’ 1] (D) Unparallel (15
(4) Standard form of quadratic equation is:-  (A) bx +¢ =0, b # 0 _q_fg,“p&,up@m (4)
Byax> +bx +¢=0, a0 (€) ax’> =bx, a7 0 (D) ax* =0, a#0
(5) If b* — 4ac <O then the roots of -ugixzu’zxé ax* +hx+c=0 =bioin b ~4dac<0 N (5)
ax’ + bx + ¢ =0 are- (A) Imational (Pt  (B) Rational (Pt (C) Imaginary (¢ (D) Real &
(6) o’ + B?isequalto- ez a’+ B2 (6)
(A) o - p? ®) al—*f;‘ (©) (o +B)* - 2ap (D) & + B
B B i B gE_ L3 m
v (A)u=wk?> (B) u=vk? ) u=wk Oyu = vk v
(8) The third pzroportionaf of x* and y2 is:- iz_,_wwl/’s’ y s X (8)
@ % ®) x7y? © £ ik =
(9) Partial fractions of - Y are of the form:- ’ ,.c..drf'J r’uu”J "(—;;xﬁif; ;i (9)
(A) L L EE:)H—’*-'T-BE‘"—C Ey1e—t g 4 i
i x-1 x+1 x-1 x+1 x-1 x+1  x-1 p
(10) If AC B then A— B isequalto:- ~¢bnide A—B Jn ACB/1 (10)
A 4 (B) B ) ¢ D) B-4
(11) The different number of ways to describe a set are:- - AIEASE Y I wWler (1)
(A) 1 (B) 2 (C) 3 (D) 4
(12) The spread or scatterness of observations in a data set is called:- e bl cugbing  (12)
(A) Average b (B) Dispersion 2+ (C) Central tendency wﬁvd)} ([])) Range ]:.-’f'
(13) 77 ls:ne " l_m_éi}q? I 1+5m0  t-sime ~—— (13)
(A) 28ec’6 (B) 2Cos*6 (C) Sec*O (D) Cos9
(14) Right bisectors of the chord of a circle always passes through the:- RSB Bl s (14)
(A) Radius < iy (B) Circumference « k¢  (C) Centre « /» (D) Diameter « 4
(15) Two tangents drawn to a circle from a point _ugLanGLJLJJ Vz_;z:;)c:’.—ﬁd)/gégﬁ)bg (15)
outsideitareof ____inlength. (A)Half 4 (B)Equal 4z (C)Double 5 (D) Triple /of

32(0bj)( T I¥)-2016(S)-1000  (MULTAN)
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2016 (S) Ay
SSC PART- (10th CLASS)

MATHEMATICS (SCIENCE GROUP) (/)
GROUP-I | s s.,;s,f
TIME ALLOWED: 2.10 Hours SUBJECTIVE _&1Le E210 = &y
MAXIMUM MARKS: 60 60 = AF

NOTE: - Write same guestion number ey f“z._f ) u?z_ ;,,J'//u ;s!ﬂ‘ufvu 3,’Ubg’:’ o
and its part number on answer book, as given in the question paper.

SECTION- o

2. Attempt any six parts. 12=2x6 S fenlimig e f 24y
g 2
() Solve fzx_l] 2 (2:-1) QR
" 2) 4 7 2) 4
(i) Define Reciprocal Equation. «.zju-bf?[‘)(w”b”u’/ (ii)
(ili) - Without solving, find the product of roots of the following -:;j?ffk,,/-'*ﬁ# y;a_ui;wnu;wﬂéf (iii)
quadratic equation. (a3B)x ~ax+h=0
(iv) Finc the discriminant of quadratic equation. dx? T —250 @.@*M}Uﬁ}hbmﬁm (iv)
(v) Find the cube roots of 64, S MLl 64 ()
(vi) Evaluate. (1-30p -30%)° (1-30 —30%)’ -é.{’#’;.«{? (vi)
(vil) State the Theorem of Componendo-dividende. ‘Vb_,w s._» 92 (vii)
(vii) Find i 6:x:3:5 6:x:3:5 N v (i)
{ixj Find a mean proportional to:- 16, 49 ﬂé‘}"wbﬂidm (ix)
u
3. Attempt any six parts. 12=2x6 S “mifé..lii@’c.,bf _3/
) What are Partial Fractions? fs J*’U»fff.‘ﬁf (?}

i) Prove thatwhether (x +3)* =" + 6x + 9 isanidenflty ScedWlfl (x+3)* =2> +6x+9 (rlet (il

(i) Define One-One Function. S Fig i
(iv) Show by Venn Diagram. 4N (B U ) AN(BUC) ~u:-f5:¥c-rf/ib‘uff (v)

U B4 4 4-B wB={24568}a4={12345}/ W
(v If 4={12345}and B={2,4,568} thenfind 4-B and B- 4

_ ~u£/1(’51”' BxAd AxB ¥ B={c,d} # A:{a,b},fr (vi)
Vi) f 4={ap} ad B={cd} thenfind 4x B and Bx 4
(

vii) What is Cumulative Frequency? ?ug;fé:,&&?f (vii)
(viii) Define Harmonic Mean. j/_.ég ﬁdﬁrﬁhﬁ?’ﬁ (viii)
(ix) Define Mode. Al (%
4. Attempt any six parts. 12=2x% -”é”/fa’giﬁiizlgc.d) Ay
(i)  Whatis meant by an Angle of Depression? ?L,gag»g’_?,fufe_;giwidﬁj (i)
(i) Find 6 ,when 7 =4.5mand r = 2.5m AP0 B =25k 4 e=45 20 i)

(i, J}:)
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(2)

(i) Write down the relation between central angle, arc and radius of a circle. -QE’C*L” Uf;_,rr.wﬂu'}; wiliy ?}[..;.Eb (i)
{iv) Define Acute Angle. ‘.gj‘.:i.@_/"g,%sijub (iv)
(v) Define Circle. ..é-.é»‘/’&?b )
(vi) Define Tangent of a Circle. Sl sy (i)
(vii) Define Chord of a Circle. Sl i
(viiiy Define Circumference. -é...é,f/’ufhf (viil)
(ix) Define Triangle. -g-f...@/of&lﬁ* (ix)
SECTION-I (0.2
+ . L P - P "
24=8x3 ) Gt e L e Fe Y o
NOTE: - Attempt any three questions but question No.9 is compuisory.
- CC
5(A)  Solve the given equation by using Completing Square Method. S SEpS bt itn ()5

7x* +2x-1=0

'; - )i " N l”’
S heblbe B oA o Judun Wl X2 =3x+6=0 ol p ol o /i (w)
(B) If « and B are the roots of equation x* — 3x + 6 = 0. Form an equation whose roots are
o and B°

-

4 u=6 J;?g;f."f’("’” WM oy =3 ,.5 w =3 leﬁu':ﬁ’,..jc..,-.:ﬁri u § w /i ()6
6.(A) If w variesinversely asthecubeof » , and w=5 when«=3. Find w when u=6.

1 4 115
(B)  Resolve into Partial Fractions. _* ! WL E Ry ()
x(x-1) *(x-1)

(AUBY =4 NB St U=N 4 B=pP « 4=¢ N (GhT

7(A) If 4=¢ , p=p and U =N thenprovethat (4UB) = 4" B
(B)  Find mode for the following vépl*‘u& ..‘g..;ﬁ;/fzgllv}g!ﬁo'/}&f;ﬁ:a d:ﬁdi;;ﬂ?ifﬁg’i:@yﬁéig (o)

frequency distribution showing the number of heads when 5 coins are tossed -

X (Number of Heads) ;fﬂ"{,(,uf_f, Frequency (Number of times) <
1 3
2
g 5
4 3
5 1
8.(A)  Prove that:- Cos'® — Sin'e = (Cos™® — Sin0) JSEer ()8
(B) Construct a circle of radius 2 cm. _éifr;’wjafzi.b:,ﬂ% 60° FLe mllni bu e 2 (&)
Draw two tangents making an angle of 60° with each other.
9. Prove that the perpendicular from the centre of a circle on =3 tf_}f’yu’b/{}:u’ ;)}i;..}bfé <k .9
a chord bisects it. OR |

P o . . y

Prove that the measure of a central -« t‘ﬁtf,*:,é.sf)»‘;&/.ﬁ@’:’i@g lu.fjLJ/,;UL;’};'L‘J:Z..c.n/f"bﬁ’ufc_}!:u fff O

angle of a minor arc of a circle, is double that of the circum angle subtended by the corresponding major arc.
30-2016(S)-/59F  (MULTAN)
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2016 (S) A
SSC PART-Il (10th CLASS)

MATHEMATICS (SCIENCE GROUP) (/) F
GROUP- b < i)
TIME ALLOWED: 210 Hours SUBJECTIVE Uil.» 10 = &
MAXIMUM MARKS: 60 60 = AS
NOTE: - Write same question number -:;_fwu‘.f;_._,;.jfr,ﬁzé Evu/‘,';:?ﬂ’/',}dfr@/?d:(db? LS

and its part number on answer book, as given in the question paper.

SECTION-I Ji.»

2. Attempt any six parts. 12=2x6 -“é“/fauyiwc_df ..2/";,.15}/
(i)  Write the equation in standard form L gt o B ite fd;l,w( bbs (i)
x+4 x-4
(i) Define Radical Equation S bl i)
(ii) Find the Discriminant of 6x? — 8x « 3 = 0 S 65 —sx+3=0 (i
(iv) Find the product of the roots of equation ] )/r:l"’ -,«/ZJJ bKu%;é: 2px® +3gx —4r =0 =hi (i)
2px* +3qx —4r =0
(v) Evaluate (1-o +o*)° -u:)r/':b’\:u_’f;f (1-0+e2)° (V)
(vi) Use synthetic division to find the quotient and remainder. _QJ?PJ.L,-JFJLV Lyé.ﬁ.l’.ﬂh&ifﬁ} J‘(/ (vi)
(2 7x - 1) + (2 %1)
(vii) Define Direct Variation. EpFed i
(vil) Find the ratio of 200 g to 700 g, edipnS 100 e 200 i
(ix) Find P, if 12, P and 3 are in continued proportion. -LM"P P fugﬁwbdy 3 P 12 / {ix}
3. Attempt any six parts. 12=2x6 é/futfﬁi /"La?.:.d: 34
(i)  Define Rational Fraction and give example. :JLmla‘fJ /L ) f E (i)
i) Resolve into Prtal Fractons. - L ; L. EEL 67 i)
- .
(i) If4={a b }and B={c,d} ..éf#sx,q M AxBIB={c,d} s A={ab} A (i)
thenfind 4 x Band B x 4
(iv) Write Demorgan's Laws. -gf{vf 3L ks (iv)
(v) Find Domin and the Range of R={12), (21, G.4), (35) } Eek G g W)
(i) Define Function. EaASE i
(vii) Define Mode and Median. “E@ P s sl e (il
(viii) Define Range. 110, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62 G (i)
() Find Arithmetic Mean. 200, 225, 350, 375, 270, 320, 290 -l ()
4. Attempt any six parts. 12=2x6 5/ f...w!.?(gfla?c’_u( -4/Jlr'
(i) Inacircle of radius 10m, find the distance e K0 Sk Bl o LRk 35 :/&_/w.u (i)
travelled by a point moving on this circle if the point makes 3.5 revolution.
(i) Convert T radian into degree. -g;fuf,gwdfiy@:é; 261‘_ (i)

(ZLJ.J Ljf’)
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